
，

⎡

⎣

⎢⎢⎢⎢⎢⎢

. . .

. . .

. . .

. . .

. . .

. . .

. . .

. . .
xN−1,N−1

. . .

. . .

. . .

. . .
xN−1,N

xN,N

. . .

. . .

. . .
xN−1,N+1

xN,N+1

⎤

⎦

⎥⎥⎥⎥⎥⎥

⎡

⎣

⎢⎢⎢⎢⎢⎢

. . .

. . .
xN−2,N−2

. . .

. . .

. . .

. . .
xN−2,N−1

xN−1,N−1

. . .

. . .

. . .
xN−2,N

0

xN,N

. . .

. . .
xN−2,N+1

xN−1,N+1

xN,N+1

⎤

⎦

⎥⎥⎥⎥⎥⎥

⎡

⎣

⎢⎢⎢⎢⎢⎢

. . .

. . .
xN−2,N−2

. . .

. . .

. . .

. . .
0

xN−1,N−1

. . .

. . .

. . .
0

0

xN,N

. . .

. . .
xN−2,N+1

xN−1,N+1

xN,N+1

⎤

⎦

⎥⎥⎥⎥⎥⎥
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，
rowN wor = okN=0 rowN−1

AN−1,N wor = 4kN−1

⎡

⎣

⎢⎢⎢⎢⎢⎢

. .

. .

. .

. .

. .

. .

. .

. .

. .

. .

. .

. .

. .
AN−1,N−1

. .

. .

. .

. .
AN−1,N

AN,N

. .

. .

. .
XN−1

XN

⎤

⎦

⎥⎥⎥⎥⎥⎥
rowN−2 AN−2,N−1 AN−2,N

wor = 8kN−2

⎡

⎣

⎢⎢⎢⎢⎢⎢

. .

. .

. .

. .

. .

. .

. .
AN−2,N−2

. .

. .

. .

. .
AN−2,N−1

AN−1,N−1

. .

. .

. .
AN−2,N

0

AN,N

. .

. .
XN−2

XN−1

XN

⎤

⎦

⎥⎥⎥⎥⎥⎥

⎡

⎣

⎢⎢⎢⎢⎢⎢

. .

. .

. .

. .

. .

. .

. .
AN−2,N−2

. .

. .

. .

. .
0

AN−1,N−1

. .

. .

. .
0

0

AN,N

. .

. .
XN−2

XN−1

XN

⎤

⎦

⎥⎥⎥⎥⎥⎥
wor = 12kN−3 wor = 4nkN−n

= 4 × (N − n) = 2 ∗ (N − 1 ∝∑N−1
m=1 )2 N 2

B X
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A = = =
⎡
⎣⎢

−2
6
3

2
−6
−8

−1
7
4

⎤
⎦⎥ P12

⎡
⎣⎢

0
1
0

1
0
0

0
0
1

⎤
⎦⎥ m1

⎡
⎣⎢

1
1
3

−2

0

1

0

0

0

1

⎤
⎦⎥

=P23

⎡
⎣⎢

1
0
0

0
0
1

0
1
0

⎤
⎦⎥

A = U =P23m1P12

⎛
⎝⎜⎜

6

0

0

−6

−5

0

7

	1
2
4
3

⎞
⎠⎟⎟

(P23m1P12)−1 A = (P23m1P12)−1

L = (P23m1P23)−1

(P23m1P23)−1 (P23m1P12)−1

(P23M1P12)−1

L[0][0] ∗ V [0] + L[0][1] ∗ V [1] + L[0][2] ∗ V [2] = B[2]

L[0][2] ∗ V [2] = B[2] − L[0][0] ∗ V [0] + L[0][1] ∗ V [1]

B[0]

L[2][0] ∗ V [0] + L[2][1] ∗ V [1] + L[2][2] ∗ V [2] = B[2]

https://overbrace.com/bernardparent/memberlist.php?mode=viewprofile&u=3597&sid=9b9ed7edc57d9de22811203c084bbee9
https://overbrace.com/bernardparent/memberlist.php?mode=viewprofile&u=3593&sid=9b9ed7edc57d9de22811203c084bbee9


L[2][0] ∗ V [0] + L[2][1] ∗ V [1] + L[2][2] ∗ V [2] = B[2]

π


